i Al b bl i3] OBl =
EELXT %
BRI Y 8 m® 68. 5
BREL BEAIERIEInE R m’ 54,7
FlERIE T =R
FET then . FEP40 m 9.3
then . FEP8O m 68. 0
IBEREST— T W50 24z m 77.3
th oh
Big T E4, - EM-CE5. 550-3C | m 9.3
BB
" E4, - EM-CE5. 550-3C | m 22 6
N RR—)LBE B )
IR BT =%
EViES T )L — Fay 1.0




EETTHEE
ANBUBEEAMAHT-Y) HHEE
Z=X1 ER-E | KIEYM2) | EHBRLM2) #EY(m3) | EERL(M3) k=
TrLA—&KE

EVES T)LA— 59.8 509| &S HE

BET 2.3

NRR—)LERE 6.3 3.8

INEE 68.5 54.7

& it 68.5 54.7




HiuyE
RERET . RBET

ARE

BREH S — b

FL =150 2%
IR
2 _~ =
.H
REW
FEP40, 80
300
& Al RO i g = B # =

FRIE Y 0.3x0.1x77.3 m3 2.3
RER 0.3x0.05%x77.3 m3 1.2
megET- | W1b0 242 m 77.3




6.3
3.8

#E

m3
m3

B

RE

i

o+

N B7R—)L

SiETL :

=

=]

8

HR A

=z
Han

B3

6.3-(1.04x1.04x1.18) x2

1.64%x1.64%x1.18x%x2

1%

061 006
~---—-—-—-—-—-——--=
P P R P
{ 0 ] ¢ |
I ! | |
p ~ I
I ” ! [ 1 |
I
, : | ” ° e
! L | | 00
| ” | ” ” w
| I
| 1 ” ! IS @
| ” ! | ” ©
” I ” ” o ” o
” ” N . |
| ! !
e \ N D
“““““““ rooooos 3
g
2
06 7 7
ool 0s¢e 059
[o1:]

i

RiEY
BRL

E Al




BEETL (ip) 040
®80

BLiR T (arp) 640

BT (BR) 040
N2 FR—ILERE

BREREIX

L=9.3m
L=5. 0+63. 0=68. Om

L=9.3m
L=22. 6m
N=2%

I

TP |l

/

L =
r

BN K B e K B

| S

%Wff ’F*;—:q* — %

= s

— | ==
= =r— ‘ ‘ [L: —
—l p— —

== - .
:% E%‘:: -
=IS S




EVIES /LA —HBER

FeiB1) s Hiwk -~k <¥iva Cl-1 C1-2 C1-3 Cc2-1 Cc2-2 aEk
EELT TR Bk - - m’ 12.8 8.7 10.0 14.9 13.4 59.8
HRL B R EDE 1m PL_E4m AT m’ 11.2 7.2 8.4 13.2 10.9 50.9
FEHEIE m’ 2. 2.9 2. 2. 2.9 11.8
) — MR T a7 —h Ou= 24 N/mm’ m’ 1. 1.5 1. 1.1 1.6 6.2
2 BRI R IEY) m’ 4.2 4.9 42 4.7 5.4 234
7] D13 kg 64. 90. 67. 71. 91. 383.
(SD345) D16~D25 D16 I
D19 I 23. 23. 23. 38. 38. 145.
N B Z 23. 23. 23. 38. 38. 145.
& & I 87. 113. 90. 109. 129. 528.
AR A A A T DI30<L=Im %% Head—bar | fHifT 4. 8. 6. 4. 5. 27.
SEUHEE L2 L TV I ALAT m’ 0.01 0.01 0.01 0.01 0.01 0.05
FEET BLarz)—k O4= 18 N/mm’ m’ 0.2 — 0.2 0.2 0.3 0.9
A AR B P m’ 0.6 0.6 0.6 0.7 2.5
FEEA t=20cm , RC-40 m’ 2. 2. 2. 2.9 8.9
) || ( 0.4) (04) | (04) | (06) | (18)




§ 1. EVES T )ILA—(CI-1)HEFTE
1.1 f24k

o e
Ql g L
o 8| =
= o a
- 8 ¥
N wTE
400 1400 400
X BTFTRESHEROTSHSICOLTIR. BEIRICERRET S,
F @ — 216.3X 8.2 mm R—2F L —h
A, = 0.0367 m’ PL— 19 X 300 X 300 mm
h. = +0.050 m (= Z7V—F Emdb)
I AT L2 L 50 X 360 X 360 mm (b = 30 mm)
ar 7 —MREX
550 X 550 X 600 mm
A, = 0.3025 m’
a7 —h B. = 1.200 m FLRER K : 1.400 X 1.400 m
BRI H
IR L, = 1200 m = 7Y —h h, 0.100 m
H. = 0.600 m e hy = 0.200 m
B2 N = 14k G D, 0.240 m
T4 D, = 0.200 m
PR 5 Dy = 1.460 m
ZR A lng = 1:0.5
PRIEER A bg = 0.500 m



12 HEEHR

| g LI RYyTR N3
1 IS JRAG TR BT Bl | ERY
EELT PR Hh - 1) m’ 12.8 12.8
HRL I RIBEME 1m LL F4m R m’ 11.2 11.2
FmEIE m’ 2.0 2.0
a7 —RERET a7 —hk 4= 24 N/mm’ m’ 1.0 1.0
A iy B ARG m’ 42 4.2
SR D13 kg 64. 64.
(SD345) D16~D25 D16 I S N
D19 ) 23. 23.
/N EF n 23. 23.
& & i 87. 87.
BB 28 Tk DI30<L=1Im 2% Head —bar | 4T 4. 4.
M AFE L2 L VIV I ALAT m’ 0.01 0.01
HigET BLarzy—k 4= 18 N/mm? m’ 0.2 0.2
A AR R U m’ 0.6 0.6
Fer A t=20cm , RC-40 m’ 2. 2.
m) || ( 04) ( 04)
1.3 HEHE
131 E1xT
(1) K18
Vg = 1/6 X {2.20 X 3.66 + 2.20 X 3.66 + 2 X (2.20 X 2.20 + 3.66 X 3.66)} X 1.46
128 m°
) #ERL
Ve 12.8 — 1.62 = 112 m
el
R 0.55 X 0.55 X 0.56 0.17
a7 — R 1.20 x 1.20 x 0.60 = 0.86
YLarz)—h 1.40 x 1.40 x 0.10 = 0.20
R 1.40 x 1.40 x 0.20 = 0.39
14 = 1.62 m’°
Q) EEEIE
Ay = 1.40 X 1.40 = 2. m’




1322 9)—hERET

Harv—k (Cu= 24 N/mm)
OEEN o
FEJD 0.55 X 0.55 x 0.60 0.18
FE -0.0367 % 0.53 -0.02
NR—2FL—] -0.30 X 0.30 X 0.019 0.00
MY HEE L 2L -0.36 x 0.36 x 0.05 -0.01
FER/ NG 0.15
av o) — AR | 120 x 1.20 x 0.60 0.86
a7 —MEEE 1.01
Q) & L& (BkFABIEY)
I Hom
At ()
FEJD 2 % (0.55 + 0.55) x 0.60 1.32
7)) — IR 2 % (1.20 + 1.20) X 0.60 2.88
R A 4.20
OF:3 (SD345)
R R
(kg)
D13 64.
D16 D16 —
~ D25 D19 23,
N E 23.
& &t 87.
Q) MW HmESE LA (D13 0<L=1m) %% Head—bar
N = (E:050)
4) |BIVBEILAIL (FLEYIREA4T)
14 = 0.36 X 0.36 X 0.05 = 0.01 m’
1.3.3 HET
(H HLarsy—k (O u4= 18 N/mm?)
14 = 1.40 x 1.40 x 0.10 = 02 m’
Q) & L& (LB
A = 2% (140 + 1.40) % 0.10 = 0.56 m’
OF-%: 1228 (t=20cm,RC-40)
A = 1.40 x 1.40 = 2. m
14 = 1.40 x 1.40 x 0.20 = 0.39 m’



§ 2. EVEY T)ILA—EBE(CI1-2) %25 E

2.1 Btk
QT/ B B FeTal 3 %’:’.‘:—n
— | 4 FE-A" — - 9 YouU _
T &1 T E———
_ =l Kk 2
Q| ©| B L1 550x550
N A
= A
=) i <
I | | ! |
| | |
| | |
Mip. 1600 _ |500] |500 | 1400 _ | 500 |
1 | 1
L 2 2i0 ] | 2 400 |
Es P - 216.3X 8.2 mm NR—2 7L —h
A, = 0.0367 m’ PL— 19 X 300 X 300 mm
h, = 40.050 m (> ZVU—h LELD)
I AT L2 L : 50 X 360 X 360 mm (b = 30 mm)
ar 7 —MREX
550 X 550 X 600 mm
A, = 0.3025 m’
a7 —h . B, = 1.600 m FLRER K : 1.800 X 1.600 m
K T2
IR L, = 1.400 m = 7Y —h h, = m
H. = 0.600 m e hy = m
B2 © N = 12k G : D, 0.240 m
T4 : D, = 0.200 m
PRHR : Dy = 1.160 m
ZR A D lmy = 1:0.5

IRYE A Dby = 0.500 m



22 EERAHER

; . e [
1 IS JRAG TR BT Bl | ERY
(= mn PR Hh - 1) m’ 8.7 8.7
HRL I RIBEME 1m LL F4m R m’ 7.2 7.2
FETE T m’ 2.9 2.9
a7 —RERET a7 —hk 4= 24 N/mm’ m’ 1.5 1.5
A iy B ARG m’ 4.9 4.9
B D13 kg 90. 90.
(SD345) D16~D25 D16 I -
D19 ) 23. 23.
/N EF n 23. 23.
& &t " 113. 113.
B & Tk D13 0<L=1m %% :Head—bar | 7T 8. 8.
M AFE L2 L VIV I ALAT m’ 0.01 0.01
JERET BLarr)—k O 4= 18 Nmm? m’ —
A IR b2 | iy oA m’ —
Py t=0cm ,  RC-40 m> —
(m?) —
23 HEFE
231 fF%xXT
(1) K18
Vg = 1/6 X {2.21 X 3.56 + 2.40 X 2.79 + 2 X (2.21 X 2.40 + 2.79 X 3.56)} X 1.16
8.7 m’
) #ERL
Ve 8.7 — 1.51 = 7.2 o’
el
R 0.55 X 0.55 X 0.56 0.17
a7 — R 1.60 x 1.40 x 0.60 = 1.34
YLarz)—h 1.80 X 1.60 x 0.00 = 0.00
R 1.80 X 1.60 x 0.00 0.00
14 1.51 m°
Q) EEEIE
Ay = 1.80 X 1.60 = 29 m’




2329 )—bERT

(H)ary)—k (Cu= 24 N/mm)
Bt o
FEJD 0.55 X 0.55 x 0.60 0.18
=5 -0.0367 x 0.53 -0.02
NR—2FL—] -0.30 X 0.30 X 0.019 0.00
MY HEE L 2L -0.36 x 0.36 x 0.05 -0.01
FER/ NG 0.15
oY — LR | 1.60 x 1.40 x 0.60 1.34
2 7)—bEEF 1.49
Q) & L& (BkFABIEY)
e Hom
R ()
FEJD 2 % (0.55 + 0.55) x 0.60 1.32
o 7)) — N 2 X (1.60 + 1.40) x 0.60 3.60
A 4.92

©F3:] (SD345)
R R
(kg)
D13 90.
D16 D16 —
~ D25 D19 23,
N EE 23.
& & 113.
Q) WA EELLE (D13 0<L=1m)
N = 8 &P

4) EIVBEILZIL
14

= 0.36 X 0.36 X 0.05

(FLEYIRE4T)
0.01 m’

2% Head—bar



§ 3. EVEY T)ILA—ERE(CI-)EFHE

3.1 ik
Z Z
2670 : 3660
N—2 T L— | N—2TL— k|
/P_19x300x300 ' [P 19x300x300 !
|INHE £ L3 JL\ i IR TTA i
50x360x360  \ ¢ _150x360x360  \
o \ | P R \ |
\l/ ETIBlI&= AV T = vy \/ ETIBI= A\ [
=¥ — W WS A
? o S NERZaze) \\\: 1 FEyTy ,WE‘\‘*' e ZN \\\: K P 23
ol 8 B/ N\ LT 1 550x550 | N (N 0 550x550"
8[ g Yﬁif‘ 1 8' A\ ‘1”}‘ Ao
—| 8 'Q\\ cJd'L> : | 'Q\\ cJd'L> //m_
ot AN | L 7 N | i
—i 046400 pu —r 44910 Q] L N 7
,CI ‘___nfnm_'_mmn.. L ] ‘__fonm_‘_mmln__,
- i | i
100_ 1200 1o o 1200 100
400 i 400 40 400 1400 400
i940 2200
F g — 2163X 82  mm NR—=2FL—h
A4, = 0.0367 m’ PL— 19 X 300 x 300 mm
h. = +0.050 m (= Z7V—F Emdb)
EHEE L2 L : 50 X 360 % 360 mm (b = 30 mm)
ar 7 —MREX
550 X 550 X 600 mm
4, = 0.3025 m’
a7 —h . B, = 1.200 m FLRER K : 1.400 X 1.400 m
BRI H
IR L, = 1200 m = 7Y —h h, = 0.100 m
H. = 0.600 m e hy, = 0.200 m
B2 © N = 12k G : D, 0.240 m
T4 : D, = 0.200 m
PRI : Dy = 1.460 m
ZR A D lmy = 1:0.5

RIESAR : bg = 0.500 m



32 HEERAHR

Y N Ly ﬁ%
1 IS JRAG TR BT Bl | ERY
EELT PR Hh - 1) m’ 10.0 10.0
HRL I RIBEME 1m LL F4m R m’ 8.4 8.4
FmEIE m’ 2.0 2.0
a7 —RERET a7 —hk 4= 24 N/mm’ m’ 1.0 1.0
A iy B ARG m’ 42 4.2
SR D13 kg 67. 67.
(SD345) D16~D25 D16 I N
D19 ) 23. 23.
/N EF n 23. 23.
& & i 90. 90.
B & Tk D13 0<L=1m %% :Head—bar | 7T 6. 6.
M AFE L2 L VIV I ALAT m’ 0.01 0.01
HigET BLarzy—k 4= 18 N/mm? m’ 0.2 0.2
A AR R U m’ 0.6 0.6
Fer A t=20cm , RC-40 m’ 2. 2.
m) || ( 04) ( 04)
33 HEE
331 fE¥x1T
(1) K18
Vg = 1/6 X {1.94 X 3.66 + 2.20 X 2.67 + 2 X (1.94 X 2.20 + 2.67 X 3.66)} X 1.46
= 10. m’
) #ERL
Ve = 10.0 — 1.62 = 8.4 m’
el
R 0.55 X 0.55 X 0.56 = 0.17
a7 — R 1.20 x 1.20 x 0.60 = 0.86
YLarz)—h 1.40 x 1.40 x 0.10 = 0.20
R 1.40 x 1.40 x 0.20 = 0.39
14 = 1.62 m’°
Q) EEEIE

Ay = 1.40 x 1.40




332 vy )—hERT

Harv—k (O u= 24 N/mm?)
NN Yo
st (m?)
FEJD 0.55 X 0.55 X 0.60 0.18
=5 -0.0367 x 0.53 -0.02
NR—2FL—] -0.30 X 0.30 X 0.019 0.00
MY HEE L 2L -0.36 % 0.36 X 0.05 -0.01
FER/ NG 0.15
o) — AR [ 1.20 x 1.20 x 0.60 0.86
a7 —MEEE 1.01
Q) & L& (B mRtEEY)
o Hom
HEE:V ()
FEJD 2 % (0.55 + 0.55) x 0.60 1.32
o 7)) — N 2 X (1.20 + 1.20) x 0.60 2.88
RIpeEE 4.20
©F3:] (SD345)
R R
(kg)
D13 67.
D16 D16 —
~ D25 D19 23.
N E 23.
& i 90.
Q) WA EELLE (D13 0<L=1m) %% Head —bar
N = 6 &P
4) |BIVBEILAIL (FLEYHIREA4T)
14 = 0.36 X 0.36 X 0.05 = 0.01 m’
333 EMT
(O #Larsy—k (O = 18 N/mm?)
14 = 1.40 x 1.40 x 0.10 =
Q) &aLER (LB
A = 2% (140 + 1.40) % 0.10 = 0.56 m’
(3) EBERA (t=20cm,RC-40)
A = 1.40 x 1.40 = 2. m
14 = 1.40 x 1.40 x 0.20 = 0.39 m’



§ 4. EVERY T)LA—ERBE(C2-1NHEHE

4.1 Ik
201N ’)0'1/'\
Rz TL—F | B N—zxTL—F | i
12 19x350x350 i 12 19x350x350 i
EUNHEEILZ JL\ ! HFUNHEEILZ IL\ |
50x410x410 \ e ¥ @ 267.4x9.38 50x410x410 \ e ¥ @ 267.4x9. 8
¥ stEs A =y K7 EtEE A
. - \ w2 \
T e =) N > \\ ! | *Iﬁiﬂ”/\ / E AN AR s \\ | : 7 /
of BN Wi O 600x600 NI 600x600 _j \\! } /
S| = 4. E = N 44 fo
T = '-.’/;‘ cJ,L> :,':\" © '-.’/“;‘ cJ, Lo ,,c\‘\,‘-"
2 \\\ r ! 1 ,l// \\\. r ! 1 .l/,
=t ‘x__nmm_;_mmn__;’ ] \__mmn_;_mmn__/
S | | |
- I I I
100 1200 1bo 100 1200 100
1400 i 400 1400 1400 i 400 00
2200 2200
£ P — 267.4X 93  mm NR—=2FL—h
A. = 0.0562 m’ PL— 19 X 350 X 350 mm
h. = +0.050 m (= Z7V—F Emdb)
I AT L2 L : 50 X 410 X 410 mm (b = 30 mm)
ar 7 —MREX
600 X 600 X 750 mm
A4, = 0.3600 n’
a7 —h i = 1.200 m FEREAR : 1.400 X 1.400 m
K T2
IR L, = 1200 m = 7Y —h h, = 0.100 m
H. = 0.600 m e hy, = 0.200 m
B2 © N = 12k G . D, = 0.240 m
T4 : D, = 0.200 m
PRI : Dy = 1.610 m
ZR A D lmy = 1:0.5

RIESAR : bg = 0.500 m



42 EERFHR

| g LI RYyTR N3
1 IS JRAG TR BT Bl | ERY
(= mn PR Hh - 1) m’ 14.9 14.9
HRL I RIBEME 1m LL F4m R m’ 13.2 13.2
FmEIE m’ 2.0 2.0
a7 —RERET a7 —hk 4= 24 N/mm’ m’ 1.1 1.1
A iy B ARG m’ 4.7 4.7
B D13 kg 71. 71.
(SD345) D16~D25 D16 I
D19 ) 38. 38.
AN 2 ] 38. 38.
& &t " 109. 109.
BB 28 Tk DI30<L=1Im 2% Head —bar | 4T 4. 4.
M AFE L2 L VIV I ALAT m’ 0.01 0.01
HigET BLarzy—k 4= 18 N/mm? m’ 0.2 0.2
A AR R U m’ 0.6 0.6
Fer A t=20cm , RC-40 m’ 2. 2.
m) || ( 04) ( 04)
43 HETE
431 fF%1T
(1) K18
Vg = 1/6 X {2.20 X 3.81 +2.20 X 3.81 + 2 x (2.20 x 2.20 + 3.81 x 3.81)} X 1.61
= 149 m’
) #ERL
Ve = 149 — 1.71 = 132 m’
el
R 0.60 x 0.60 x 0.71 0.26
a7 — R 1.20 x 1.20 x 0.60 = 0.86
YLarz)—h 1.40 x 1.40 x 0.10 = 0.20
R 1.40 x 1.40 x 0.20 0.39
14 1.71 m’
Q) EEEIE
Ay = 1.40 X 1.40 2. m’




432 a9 —rEBRT

(Havy—k (Cu= 24 N/mm?)
e P
st (m?)
R 0.60 x 0.60 X 0.75 0.27
F -0.0562 % 0.68 -0.04
NR—=AF L —h -0.35 X 0.35 X 0.019 0.00
MEUTHETE LA L -0.41 X 0.41 X 0.05 -0.01
FER/NET 0.22
o) — AR [ 1.20 x 1.20 x 0.60 0.86
a7 —hEE 1.08
Q)= L& (B FEEY)
Sp g M
HEE:V ()
FERE 2 % (0.60 + 0.60) x 0.75 1.80
o 7)) — N 2 X (1.20 + 1.20) x 0.60 2.88
HIPEE 4.68
OF:3 (SD345)
R
(kg)
D13 71.
D16 D16 —_
~ D25 D19 38.
/N FE 38.
& & 109.
Q) MW HmESE LA (D13 0<L=1m) %% :Head—bar
N = 4 T
4) |INBEBEILAIL (FLEYHIREAT)
14 = 0.41 X 0.41 x 0.05 = 0.0l m’
433 BT
(O #Larsy—k (O = 18 N/mm?)
14 = 1.40 X 1.40 X 0.10 =
Q) &aLER (LB
A = 2 x (1.40 + 1.40) x 0.10 = 0.56 m’
(3) EiEwa (t=20cm,RC-40)
A = 1.40 X 1.40 = 2. m?
v = 1.40 X 1.40 X 0.20 = 0.39 m’




5

§ 5. EVEEI T )LA—EE(C2-2)% =

5.1 fS4K

™
Au,h
>
<t
I~
;MW
o
v
B mﬂ
. N
ﬂu b s e o o e ) Bl
] g S ,; =
R =
\ - e = affem g
L R ‘. R s | e ¢ SRR & R B
o ;.u o @
P o 71 o mmw mm“ =)
e I
(o]
S
[ts) B o o o
d \ = 5
¥ 22R% -
, &S TS
(T = (=]
=2 ! Al
B X .
=1 Q)| -
sy -
|
|
E
1§ 2!
it e
, )
o
I3
<F ~
~ e =
& | S
) =)
9 3 =
& =]
4 8
\ .u
© n | [~ E=] )
A A | U I Y =1 R ] B
[ | ©| | ©
o \..\nnm.\ui !.u ~— L (o]
= \
mm
[
H—=
y g
< ! <
M” | mm,
N P
A
Y
R
\) Q
Id -
.
av 0LL
082 009

0GET 00T ¢

e

1002

N—RFL—Fh

267.4X 9.3 mm

@

M

350 mm
+0.050 m (= 27Y—kLEEED)

30 mm)

350 X

19 X

PL—

0.0562 n’

410 x 410 mm (b

50 X

MEIHETE LAV

ar 7 —MREX

600 X 750 mm

600 X
4,

0.3600 nm’

g E
oS O
ES ]
moo
o
1
X
S ~ =
mmhh
v
J
N
.7
\W
HWW =
4
g E E
o O O
oS O O
o <+ O
—_ - S
1|
BchHc
v
N &
Iy g

0.240 m

GRS
By
PR

ey

sy

0.200 m

1.610 m

Dy

151

1:0.5
0.500 m

ling
bg

PR A Al

RUEARAR



52 BEKFR

| g LI RYyTR N3
1 IS JRAG TR BT Bl | ERY
(= mn PR Hh - 1) m’ 13.4 13.4
HRL I RIBEME 1m LL F4m R m’ 10.9 10.9
FETE T m’ 2.9 2.9
a7 —RERET a7 —hk 4= 24 N/mm’ m’ 1.6 1.6
A iy B ARG m’ 5.4 5.4
(78 D13 kg 91. 91.
(SD345) D16~D25 D16 I
D19 ) 38. 38.
AN 2 I 38. 38.
& &t " 129. 129.
B & Tk D13 0<L=1m %% :Head—bar | 7T 5. 5.
M AFE L2 L VIV I ALAT m’ 0.01 0.01
AT BLarzy—k 4= 18 N/mm? m’ 0.3 0.3
A AR R U m’ 0.7 0.7
Fer A t=20cm , RC-40 m’ 2.9 2.9
m) || ( 0.6) ( 0.6)
53 MEEtE
531 k%1t T
(1) K18
Vg = 1/6 X {2.60 X 2.82 + 2.01 X 421 +2 x (2.60 x 2.01 + 4.21 x 2.82)} X 1.61
= 134 m’
@ BRL
Ve = 134 —2.47 = 109 m’
el
R 0.60 x 0.60 x 0.71 0.26
a7 — R 1.60 x 1.40 x 0.60 = 1.34
BWlLarr)—k 1.80 X 1.60 x 0.10 = 0.29
R 1.80 X 1.60 x 0.20 = 0.58
14 = 247 m’
Q) EEEIE
Ay = 1.80 X 1.60 = 29 m’




5323V —+EET

(Havy—k (O u= 24 N/mm?)
A o
FEJD 0.60 X 0.60 x 0.75 0.27
F -0.0562 x 0.68 -0.04
R—Z2F L —h -0.35 % 0.35 X 0.019 0.00
MY HEE L 2L -0.41 x 0.41 % 0.05 -0.01
FERD/NET 0.22
oY — LR | 1.60 x 1.40 x 0.60 1.34
a7 —MEEE 1.56
Q) &aLER (B mRtEEY)
e Hom
R ()
FERA 2 % (0.60 + 0.60) x 0.75 1.80
o 7)) — N 2 X (1.60 + 1.40) x 0.60 3.60
A 5.40

(3) &M

(SD345)

BRA
(kg)

D13

91.

D16
~ D25

D19 38.

/N & 38.

AN
=

129.

N =

4) EIVBEILZIL

V = 041 x 0.41 X 0.05 =

533 RWET
(HBLarvs)—k
V e

Q) & L&

1.80 x 1.60 x 0.10 =

(D13 0<L=1m)

(FLEYIRE4T)

(O 4= 18 N/mm?)

(LA

A = 2 x (1.80 + 1.60) X 0.10 =

3) ZERA

(t=20cm,RC-40)

A = 1.80 X 1.60 =

Vv =

1.80 x 1.60 x 0.20 =

0.01 m’

0.29 m’

0.58 m’

2% Head—bar

0.68 m’

29 m’




=i KFERI OB TILE—
R BIHE NE INEE NEE INEE INEH
TH Bt - - o - e || Omin &t - | &t | s i o
f?#g*:;lb #ﬂg:;}b %EE:I/L II%E;/_I}L 97;:9—_"/1 EVH*:IIL POIR IR @IR I'F§;y_1}lz :P@?;/I}lf
ERIF EiR A=V EETIVINZALIARIL =54 13.45 15.69 43.26 77.66 62.94, 73.79 150.06 62.94 7379  286.79 127.05 22385  350.91|m TyRBIERHT BE
ERIE XHEEY £RY SS400 CT-200x97.5x8x12 L=150 4 4 10 32 22 17 50 22 17 89 51 70 121 @ |[ARERO SME
SBEIF XHEEM LAY SS400 L-100x100x10 L=150 4 4 4 4 8 14 16 8 14 38 4 16 20| | AR ESRH-SNE
ERIE HTB M16x55 F8T 16 16 28 72 60 62 132 60) 62 254 110 172 282| &
SBEIF ARARILE M12x55 SUS 24 24/ 48 136 104 96 232 104] 96, 432 212 312 524| K
ERIE BikFryT M12F 24 24 48 136 104 96 232 104] 96/ 432 212 312 524|f@
*EIE R TILSIREAAH  5x65 5.00 5.00 8.00 5.50 11.00 24.96 23.50 11.00] 24.96 59.46 5.00 17.60 22.60|m TuvREIEGRAEE | THMR
2ERIE EM TIVSIRHIAM = 75x65 5.86 6.84 11.50 30.83 24.95 55.03 24.95 79.98 50.46 83.83|  134.29|m TuRBIEGTEE | TFiM
SBEIF Lig ] TILSIRHAA  100x55 5.86 6.84 11.50 30.83 24.95 10.92] 55.03 24.95 10.92 90.90 44.83 83.33| 128.16|m TvREIEGRAEE | TiMR
ERIE HEBPEE N/ ANA— BR-KH7ILIREIT t=2.0 216.3x230.9 (B4R) 216.3x258.8(K3H) 2 0 0 2 2 EE | ZyRBIEGTER | FHMt
SEIE HEBHEEH/\— BIR-KH|7ILSIRES =20 216.3x253 (B4R) 216.3x282(K3) 0 0 0 0 4 4T |TvREiRGHTER | THMt
ERIE HEBPEEN/AN— BR-KH7ILIREIT t=2.0 216.3x3234 (B4R) 216.3x351.9(K3H) 0 0 0 0 EE |ZyRBIEGTER | FHMt
ERIF HEBBEEN/NN— BR-XH 7 LIRS t=2.0 216.3x378.4(B4R) 216.3x406.9 (K3) 5 3 5 3 0 8 9 O|EFT | TvERAEIESTEE | TFibM#t
ERIE HEBPEEN/AN— BR-KH7ILIREIT t=2.0 216.3x647.6 (B4R) 216.3x676.1 (K3H) 0 0 0 0 1 1@ |[ZyFRBIsETEE | FiMt
ERIF HEBBEEN/NN— BIR-XH 7 LIRS t=2.0 267.4x2034 (BHR) 267.4x231.3(K3H) 0 0 0 0 21 21|@F | JvEREIEREEE | Tt
ERIE HEBPEEN/AN— BR-KH7ILIREIT t=2.0 267.4x3534 (BHR) 267.4x381.3(K3H) 1 2 3 0 0 3 EA |ZyRBIELTER | FHMt
SEIE HEBREEH/ N \— BR-KH f 2.0 267.4x368.6 (B4R) 267.4x396.3(X3F) 1 1 1 1 0 2 AT |ZuREiRGTEE | THMt
ERIE HEBPEE N/ AN— BR-KH7ILIREIT t=2.0 355.6x265.2(BHR) 267.4x293.1 (K3H) 1 1 0 0 1 EE |ZyRBIEGTER | FHMt
ERIF EE) HSR(F 51 RELYa—rT L) ZRH R4 Y (EPDM-S) 18.98 36.86 26.07| 57.45] 55.84 26.07 57.45|  139.36 34.77 83.60| 118.37|m
ERIE Lo FILSIREMHM $50 L=50 FHEEMEEE 1 1 2 6 5 2 10 5 2 17 10, 21 31.0|&FT
ERIF 248 TILSHHRAM p60x2 MFEE, RILRE HFhbY 2.80 3.20) 6.35 16.84 12.71 7.22 29.19 12.71 7.22 49.11 28.19 50.89 79.08|m TuRiEG R
ERIE LEDFREA BHA(RAR) 1 2 3 5 4 4 11 4 4 19 10, 14 24| &R
PikIHE ARy hERAE TS B I—VRV—UV T H (SR-1) 18.98 36.86 26.07 57.45 55.84 26.07 57.45|  139.36 31.16 83.60| 114.77|m
BkIE Bt 15x10 2HAMERLI—2FI—0 T # (MS-2) 16.72 18.67 31.00 67.17 60.91 35.88 133.56 60.91 3588 230.34 100.29 184.76|  285.05|m
PikIHE Bk Fvy THA (M12F5) 1A B)I—VRV—UV T H (SR-1) 24 24 48 136 104 96 232 104 96 432 212 312 524 |18
BikIHE 1Ey 2R ERS )2V RV—UT T # (MS-2) 2 2 6 4 4 10 4 4 18 14 20 34|
Bk 14x10 (X FEMCT) 2HAMERLYI—FRI—IV T # (MS-2) 4 4 10 32 22, 17 50 22) 17 89 51 70 121| &R
Bk I 14x10 (X FEYIL) 2HRAMERLYI—FI—VTH (MS-2) 4 4 4 4 8 14 16 8 14 38 4 16 20| &R

30/ 34



X5 TEiE5 BRAL ME-Ti& W1(m) L1(m) W2(m) L2(m) 8% | & = B "%
EVRES T)LA— *EISE EiR S)A—UEBETILINZHALIARIL =54 73.79|m
1.23 347 5 21.34|m
1.23 3.38 5 20.76|mi
1.28 347 2 8.88|m
1.28 3.38 2 8.64|m
2,07 347 1 7.18|mi
2,07 3.38 1 6.99|mi
EVIES T)L5— SBIE XEHEW £ERY SS400 L-100x100x10 L=150 14| &Fr
1 14 14| &
EVIES T)LA— SBIE XEHEW £ERY SS400 CT-200x97.5x8x12 L=150 17| & Fr
1 17 17| &
EVHES T)LA— SBIE HTB M16x55 F8T 62| &
2 14 28| K
2 17 34| K
EVRES T)LA— £BIE AR M12x55 SUS 96| A&
14 28| K
17 68| &
EViES )L A— £EIE BikFrvS M12 96/ {&l
EViES T )LA— £RERIE Bk TV 5x65 24.96|m T ih#f 3t
10.96 1 10.96|m
7.00 2 14.00|m
EViES )L A— £EIE L] TILSRERAH 10055 10.92|m T ih#f 3t
10.92 1 10.92|m
EVEY T)LE— £BIE HEBMEEH/AN— BR-KHF  |7ILIREIT =20 216.3x230.9(B4R) 216.3x258.8 (K H) 2 2|&#FF [ Fidr
EVRES T)LA— EBIE ELO FILZRETH 50 L=50 FHEEHALE 2 2| & T
EVH#EL T)LA— *EISE 23] TILSRERH ¢60x2 BTEE KILbE by 7.22|m
361 2 7.22|m
EVH#EL T)LA— SBIE LEDFERR BHA(RAR) 4 4|ERT  |[EHRERE:19.225m
EVEI z)LA— *EISE By HSR(Bit5I1#ELJa—rTd L) ZRHA RSy (EPDM-S) 57.45(m
6.87 4 27.46|m
6.60 1 6.60|m
6.37 1 6.37|m
6.10 1 6.10|m
10.92 1 10.92|m

31/ 34



X5 IEE] ERL ME-Tik W1(m) L1(m) W2(m) L2(m) 8% | & HE B ikl
EVE TLA— FBKIE  |AR7yRESE 1TRA M) I—20F—) 2T # (SR-1) 57.45|m
EVRRS T ILA— BkIE  [14x10(EZESYL) 2EAMERSI—2FS—) T # (MS-2) 14| &/
EVEES T LA— BAIZE  [14x10(ZEHEMCT) 2EAMERSI—2FS—) T # (MS-2) 17| &
EVEEL T)LA— Pk IE Bk ¥y TEUS (M12F8) 1R AR )a—0FR—1 T (SR-1) 96|1&
EVEEL T)LA— Pk IE Bt 15x10 2AMERSYI—2FR—2 T (MS-2) 35.88[m
24.96 1 24.96|m iR
10.92 1 10.92|m 58
EVERS T)LA— PKITE @y 2EAMERS)a—2FR—Y T (MS-2) HERD

32/ 34



RFRIEAGS L8 — HERER

HE INEH N INEH BE
e e T TR R e — o B e
| s | o BT v [ | ot | oTr |@Tr | aw TR san | e

RS 216.3x82 STK400 165.03|  351.11 0.00| 79443 47906 61483 131057| 47906 614.83| 240446 2289.82| 3980.96| 6270.78|kg
RS 267.4x9.3 STK400 0.00 0.00 0.00| 31631 22455 42252 31631 22455 42252 963.37 0.00 0.00 0.00|kg
RS 355.6 X 11.1 STK400 0.00 0.00| 129823 0.00 0.00 0.00| 129823 0.00 0.00| 129823 0.00 0.00 0.00|kg
HR H-200% 100X 55X 8 SS400 307.23| 328.13| 480.28| 1625.98| 1353.11| 201.69| 2741.62| 1353.11| 201.69| 4296.41| 2166.68| 3441.19| 5607.87|kg
HR 8 H-194x 150X 6 X9 SS400 0.00 0.00 0.00 0.00 0.00| 1441.93 0.00 0.00| 1441.93| 144193 36544 147012 1835.56kg
HR 8 H-294 % 200X 8 X 12 SS400 0.00 000 64650 0.00 0.00 0.00| 646.50 0.00 0.00|  646.50 0.00 0.00 0.00|kg
it 47226\ 679.24| 242501| 2736.71| 2056.71| 2680.96| 6313.23| 2056.71| 2680.96| 11050.89| 4821.94| 8892.27| 13714.21|kg
ElHg (5.000% D x1.05 49588 713.21| 2546.26| 287355 2159.55| 281500 662889 2159.55| 2815.00| 11603.44| 5063.04| 9336.88| 14399.92|kg

0.00
JL—k PL-19 $S400 18.35 36.69 75.17 85.46 58.62) 76.96| 21567 58.62) 76.96| 351.25| 187.93| 23849 426.42|kg
JL—k PL-16 SN490C 2512 50.24| 124.34| 11455 7888 104.25| 314.25 7888 104.25| 497.38| 24969 527.52| 777.21|ke
JL—k PL-16 SS400 0.00 0.00 1457 1457 7.29 0.00 29.14 7.29 0.00 36.43 0.00 0.00 0.00|kg
JL—hk PL-9 S$S400 17.38 2317 4373  111.20 90.50| 158.16| 195.49 9050| 158.16| 444.16| 17458 554.75|  729.32|kg
JL—k PL-6 S$S400 15.83 1357 14.93 41.26 26.75) 49.27 85.58 26.75) 4927|  161.60 85.72| 199.70|  285.43|kg
JL—k PL-45 SS400 0.21 0.21 0.42 1.27 0.99 0.57 212 0.99) 0.57 367 212 445 6.57|ke
it 76.88| 123.88| 27317 36832 26302 389.21| 84225 263.02| 389.21| 149448| 700.04| 152491| 2224.95|kg
EHg (3.000% Dx1.03 7919 127.60| 281.37| 379.37| 27091| 40088| 86752 27091| 400.88| 1539.32| 721.04| 1570.66| 2291.70|kg

0.00
FoHA—HRILE(GR%) [M16 X 680 4 8 12 24 16 20 48 16 20 84 56 52|  108.00|A&
HTB M16x 55 S10T 0 0 0 0 0 112 0 0 112 112 0 176|  176.00|&
HTB M16x50 S10T 64 0 32 32 16 0 128 16 0 144 304|  304.00|&
HTB M16x 45 S10T 16 0 8 8 4 28 32 4 28 64 76 76.00| &
HTB M16x40 S10T 8 14 12 64 50 36 98 50 36 184 96 218|  314.00|&

0.00
BRI EE ;iﬁ:b%le’@*;’ 7VIFISAR 2R BEN RS IO A PATEZE 15.88 20.37 5392 85.77 67.00 79.89| 175.94 67.00 7989 32283 14423 27544 41967|m
B EEE & E R (DP) 1 EREIL R Iy RS R E 15.35 19.51 50.74 83.29 65.31 77.65| 168.89 65.31 77.65| 311.85| 13869| 267.92| 406.61|m




s =
XFERIEOEHE S zLE— BENMENEE 2025/4/22
EVE )L —
# C1 [216.3x82 STK400 0.6 4.868 1 3 14.604 42.10 614.83 |kg | 0.679 9.92| 9.00
# C2 [267.4x9.3 STK400 0.75 5018 1 2 10.036 42.10 42252 |kg | 0.679 6.81| 6.00
R—2FTL—h PL-19 S$S5400 300 x 300 19| 785 03] 03 0.090 1 3 0.270 149.15 40.27 |kg 2| 054| o027]Ct
R—2TL—h PL-19 S$S5400 350 X 350 19 785 035 035 0.123 1 2 0.246 149.15 36.69 |kg 2| 049| 025]|C2
HATI5L PL-16 SN490C 266 X 266 16 7.85| 0266 0.266 0.071 2 3 0.426 125.60 53.51 |kg 2| 085| 085]|Ct
HATI5L PL-16 SN490C 317.5%3175 16) 7.85| 0318 0318 0.101 2 2 0.404 125.60 50.74 |kg 2| 081| o081]|c2
Foh—RILE(RE) M16 X 680 4 5 20 | K
M16 X 680 SS4004a U AR 0D & & Bl HE $h&H = AL 3R (HDZ35)

AELR CG1|H-194X 150X 6X 9 SS400 2125 1 1 2.125 29.90 63.54 |kg | 0.962 204| 204 |®
AELR CG1|H-194X 150X 6X 9 SS400 1.325 1 2 2,650 29.90 79.24 |kg | 0.962 255| 255|@
AELR GB1|H-194X 150X 6X 9 SS400 5.500 1 2 11.000 29.90 328.90 |kg | 0.962 10.58 | 1058
AP G1 |H-194X 150X 6X9 SS400 6.350 1 1 6.350 29.90 189.87 |kg | 0.962 611 611 |@
AP G1 |H-194X 150X 6X9 SS400 7.000 1 1 7.000 29.90 209.30 |kg | 0.962 673| 673|@
RS
250240 PL-9 $5400 150 X 290 9| 785 015 029 0.044 2 7 0616 70.65 4352 |kg 2| 123 123
2508 () PL-9 $S400 60 X 290 9| 785 006 029 0.017 4 7 0.476 70.65 33.63 |kg 2| 095| 095
vz PL-6 S$S5400 140 X 230 6| 785 014 023 0.032 2 7 0.448 47.10 21.10 |kg 2| 090| 090
HTB M16x 55 S10T 16 7 112 |&
HTB M16 x 45 S10T 4 7 28 | X
EvEs
HevbIL—b PL-9 $5400 176 X 162 9| 785/ 0176] 0.162 0.029 1 2 0.058 70.65 410 |kg 2| o012] o012
)ITL—+ PL-9 $5400 176 X 62 9| 785/ 0.176] 0062 0011 1 2 0.022 70.65 155 |ke 2| 004| 004
HTB M16 x40 S10T 2 2 FES
IR Bl |H-194X150X6X9 SS400 2,600 1 1 2.600 29.90 77.74 |kg | 0.962 250 | 250 |@D
INR Bl |H-194X150X6X9 SS400 5.500 1 3 16.500 29.90 493.35 |kg | 0.962 15.87 | 1587 |@
INR B2 |H-200X 100X 55X 8 SS400 2.050 1 1 2.050 20.90 42.85 |kg | 0.775 159 | 159 |@
INR B2 |H-200X 100X 55X 8 SS400 3.750 1 1 3.750 20.90 78.38 |kg | 0.775 291 291|@
IR B2 |H-200X 100X 55X 8 SS400 2,600 1 1 2.600 20.90 54.34 |kg | 0.775 202 202|®
INR B2 |H-200X 100X 55X 8 SS400 1.250 1 1 1.250 20.90 26.13 |kg | 0.775 097| 097|@
EvEs B2
HevbIL—h PL-9 $5400 184x137.2 9| 7.85] 018401372 0.025 1 8 0.200 70.65 14.13 |ke 2| 040] o040
)ITL—h PL-9 $5400 184x37.2 9| 7.5/ 0.184| 00372 0.007 1 2 0.014 70.65 0.99 |kg 2| 003| 003
HTB M16 x40 S10T 2 8 16 |&
EvEs B1
HevbIL—h PL-9 $5400 176 X 162 9| 785/ 0176] 0.162 0.029 1 8 0.232 70.65 16.39 |keg 2| 046| 046
)ITL—h PL-9 $5400 176 X 62 9| 785/ 0.176] 0062 0011 1 4 0.044 70.65 3.11 |keg 2| 009| 009
HTB M16 x40 S10T 2 8 16 |&
SRIVEERT7 RS —|fel |PL-9 SS400 160 X 122 9| 785 016 0122 0.020 1] 1 0.220 70.65 15.54 kg 2| 044| 044

fe4 |PL-9 SS400 160 X 172 9| 785 0.16] 0172 0.028 1 9 0.252 70.65 17.80 kg 2| 050| 050

fe6 |PL-9 SS400 160 x 233 9| 785 0.16] 0233 0.037 1] 1 0.105 70.65 7.40 |kg 2] o021] o021
BB ERI7 R+ — |ft1 |PL-4.5 SS400 32x68.3 45 785 0032] 0.0683 0.002 4 2 0.016 35.33 0.57 |keg 2| 003| 003
HEBHEE th3 |PL-6 SS400 360 X 360 6| 785 036| 036 0.130 1 2 0.260 47.10 12.25 |kg 2| 052 052
HEBHEE th4 |PL-6 SS400 411 x411 6| 785 041] 041 0.169 1 2 0.338 47.10 15.92 |kg 2| 068 068

79.89 | 77.65

34/34




